R(x)

Riemann
i’ X :£ ,q>0
q
0, x

2 f(x) [ab]

M (x) =sup{f (©)|te[a,x]} m(x)=inf{f ()|t [a, x]}

[a,b]

1 f(x)  (-o0,+) x  f(x*)=1(x) f(x) x=0

x=1 f(x)  (~0,4o0)
2
1 f(x) | |
akh{a} X —x3 >0 f (%)= f(x3) >0 n— oo
2 f(x) | f(x) |
f  Cauchy Cauchy

3 f(x) [0,+0) Vx>0 lim f(c+n)=0

n lim f(x)=0

X—>+00



£(x) |
w¢ (8) =sup{| f (x) - F (X")|: X', X" e I, |x' = X"| < 5}
4 () | fx)

lim W5 (0)=0
00"

1 Dirichlet
B 1LxeQ
D(X)_{O,XEQ
2 Riemann
i’ X:B ,q>0
R(X)=19 q
0, x
4
5 f(x) (ab)

[, fl<[a.b] FO)  [a.f]

1 f(x+y)=f(X)+f(y) (¥vx,yeR) x=0

f(x) =ax a

f(x+y)+f(x=y)=2f(X)f(y) (vVx,yeR)



R f(x)=cosax f(x)=chax

P93 ex8 P.107ex2 P.119ex4 P.126 ex3
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